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2017/November New Exam: VMware 2V 0-622D Dumps with PDF and V CE Free Updated Today! Following are some new
2V0-622D Questions:1.[2017 New 2V 0-622D Exam Dumps (PDF & VCE) 140Q& As Download:
https://www.braindump2go.com/2v0-622d.html2.]2017 New 2V 0-622D Exam Questions & Answers Download:
https://drive.google.com/drive/fol ders/OB75b5xY Lj SSNRG5abEhWM mIwN2M 2usp=sharingQUESTION 46When using "Cluster
resource percentage” for host failover capacity in vSphere HA Admission Control, the total resource regquirements are calculated
from which two values? (Choose two.)A. Total vCPUs assigned to each VM.B.  Average CPU usage on each VM over time.C.
Memory reservations on each VM.D. Total memory assigned to each VM.E.  Average active memory on each VM over time.F.
CPU reservations on each VM.Answer: BEExplanation:
http://www.enterprisedaddy.com/2016/10/vmware-vsphere-6-5-new-features-ha/ QUESTION 47Which are four attributes of the
Active vCenter HA node? (Choose four.)A. It usesthe vCenter HA network to communicate with the Witness node.B. It
constantly replicates vPostgres data with the Witness node.C. It uses apublic IP address for the management interface. D. It runs
the active vCenter Server Appliance instance.E. It usesthe vCenter HA network for replication of data.F. It provides a quorum to
protect against split-brain situations.Answer: ACDEEXxplanation:

https://pubs.vmware.com/vsphere-65/index.jsp?topi c=%2Fcom.vmware.vsphere.avail.doc%2FGUI D-2D395533-4C7C-45A 6-9B5C-
OA78C3E3A5C8.htmIQUESTION 48Which are two vCenter Server two-factor authentication methods? (Choose two.)A. RSA
SecurlDB. Smart CardC. SAMLD. Symantec VIPAnswer: ABEXxplanation:

https://pubs.vmware.com/vsphere-60/index.j sp?topi c=%2Fcom.vmware.vsphere.security.doc%2FGUI D-A CFFCBEC-6C1C-4BF9-9
971-04AEE9362A FE.htmIQUESTION 49An administrator is creating VMKkernel adapters on an ESXi 6.5 host and wants to create
separate VMkernel adapters for every type of traffic in the default TCP/IP stack.Which three types of traffic can be explicitly
enabled on a separate VMkernel adapter? (Choose three.)A.  Virtual SAN trafficB. NFStrafficC. vMotion trafficD.  vSphere
HA trafficE. Fault Tolerance logging trafficAnswer: CDEQUESTION 50A vSphere administrator wants to upgrade NFS3
datastores to NFS4.1 on ESXi 6.5 hosts with running production virtual machines.Which optionisvalid?A. Run ESXi command
to upgrade the datastore.B.  Unmount the datastore from a single host, then mount it as NFS 4.1 datastore, and repeat this one host
at atime until the mount has been upgraded on all hosts.C. Create anew NFS 4.1 datastore, and then use Storage vMotion to
migrate virtual machines from the old datastore to the new one.D.  Right click the datastore and upgrade it asaNFS 4.1
datastore.Answer: CExplanation:

https:.//pubs.vmware.com/vsphere-60/index.j sp?topi c=%2Fcom.vmware.vsphere.storage.doc%2FGUI D-8A 929FE4-1207-4CC5-A08
6-7016D73C328F.html (NFS version upgrades) QUESTION 51Y our management has asked you to project your anticipated virtual
machine storage needs over the next 18 months. Which technology would help provide the required information?A. vCenter Site
Recovery ManagerB.  vCenter Operations ManagerC. vCenter Update ManagerD. vCenter Configuration ManagerAnswer:
BQUESTION 52What is an availability challenge that vSphere can address?A.  Virtual machines can be proactively migrated when
aserver faillureisimminentB. Hardware maintenance can be performed at any time without application impactC. More servers
can be deployed to provide higher availabilityD. Disaster recovery is greatly simplifiedAnswer: AQUESTION 53What are two
benefits of datacenter virtualization? (Choosetwo.)A. Lessdatato back upB. Less CPU power required for agiven applicationC.

More efficient use of resourcesD. Same hardware footprint for every machineAnswer: CDQUESTION 54Y our company is

planning to migrate your datacenter to a new location, but they wish to minimize downtime during the transition. Y ou are entirely
virtualized at your primary datacenter, and have been given funding to acquire new hardware for the new datacenter.Which of the
following products can help you migrate the VMs to the new datacenter?A. vCenter Operations ManagerB.  vCenter
Configuration ManagerC. vCenter Site Recovery ManagerD. vCenter ConverterAnswer: CQUESTION 55What is a feature of
vSphere?A. Distributed Power ManagementB. Distributed Resource ManagementC.  Distributed Power SchedulerD.
Distributed Resource ProtectionAnswer: AI''RECOMMEND!!!1.]2017 New 2V0-622D Exam Dumps (PDF & VCE) 140Q& As
Download:https://www.braindump2go.com/2v0-622d.html 2.|2017 New 2VV0-622D Study Guide Video: Y ouTube Video:

Y ouTube.com/watch?v=-4] SpOxI0RU
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